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STUDENT SHEET ACTIVITY 1 

Exploring the Library Database 

1. Write a brief definition of a database. Why is your school library a database? 

2. Today, a great number of U.S. libraries have converted their card catalogs into computer databases. Write a few 
paragraphs about how the computer system improves on the card catalog. What are the drawbacks? 

3. List several nontraditional ways books and other library materials might be organized. Feel free to be creative! 

1 4. Compare library sites online, in school, and in local libraries for ease of use, content, organization, and maintenance costs. 
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ACTIVITY 7 

EMPHASIS ON 
THE MEDIAN 

You may have noticed that this book 
focuses more on median than on 
mode. There are two main reasons 
for this emphasis. First, the median is 
a simpler idea, requiring students to 
perform less computation. Second, 
the median is not affected by a few 
extremely large or small values (as is 
the mean). 

The mode is generally not useful for 
interpreting and summarizing data. 
One reason is that many sets of data, 
such as 22, 25, 28, and 29, have no 
mode. In contrast, median and mean 
are always defined. Second, the mode 
is unstable. For example, the mode of 
1,1,3,5,8, and 9 is 1. However, by 
slightly changing two values-to 
1 ,2,3,5,9, and 9-the mode becomes 
9. Finally, as shown in the last 
example, the mode does not 
necessarily indicate the center of the 
data. For these reasons, statisticians 
tend to use median-based statistics 
when analyzing data. 

The next step is to add the leaves, which are the last digits of a number. 
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The final step is to arrange the leaves in order, numerically. If you previously 
sorted the data, this step may be already done. The final stem-and-leaf plot looks 
like this: 
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